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MPM2D - Worksheet - Factoring
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Ver: A

Factor the following perfect square trinomials:

Ox® +42x +49

25x% —80x + 64

4x* —d4x + 121

144x* — 168x +49

49x* —42x +9

Factor using difference of squares:
196x* -9

16x* — 169

100x* — 1

x* -8l

121x* - 36

Factor, looking for common factors first:

—405x” +990x — 605
810x* — 10

—27x* +192

363x” —462x + 147
~108x> + 180x — 75
4x* - 100

810x” + 1980x + 1210

250x% — 490
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Fully factor:
100x? = 20x + 1
3x? =300

18x% =32

25x% -9

81x? — 64
169x* — 100
9x* —25

49x? —70x + 25
—48x? +243
48x* —T2x +27
4x* —36x + 81
—8x? —56x—98
250x? + 800x + 640
—108x% + 147
64x* — 81

36x% —48x + 16
36x% +60x + 25
9x* —30x +25
—5x2 + 80

160x? — 240x + 90
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Perfect Square:
Perfect Square:
Perfect Square:
Perfect Square:
Perfect Square:
Difference of Squares:
Difference of Squares:
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Difference of Squares:
Difference of Squares:
Common Factor, Perfect Square:

Common Factor, Difference of Squares:
Common Factor, Difference of Squares:

Common Factor, Perfect Square:
Common Factor, Perfect Square:

Common Factor, Difference of Squares:

Common Factor, Perfect Square:

Common Factor, Difference of Squares:

Perfect Square:

Common Factor, Difference of Squares:
Common Factor, Difference of Squares:

Difference of Squares:
Difference of Squares:
Difference of Squares:
Difference of Squares:
Perfect Square:

Common Factor, Difference of Squares:

Common Factor, Perfect Square:
Perfect Square:

Common Factor, Perfect Square:
Common Factor, Perfect Square:

Common Factor, Difference of Squares:

Difference of Squares:

Common Factor, Perfect Square:
Perfect Square:

Perfect Square:

Common Factor, Difference of Squares:

Common Factor, Perfect Square:

Bx+7)(3Bx+7)
(5x—8)(5x—8)
2x—-11)(2x—11)
(12x—-7)(12x—-7)
(Tx—-3)(7x—-3)
(14x +3)(14x - 3)
(4x+13)(4x — 13)
(10x+ 1)(10x — 1)
x—9x+9)
(11x+6)(11x—6)
—5(9x—-11)(9x—11)
109x+ 1)(9x— 1)
—3(3x+8)(3x—198)
311x—-7(11x—-7)
—3(6x —5)(6x —5)
4(x+5)(x—5)
109x + 11)(9x + 11)
10(5x+7)(5x—=7)
(10x—1D)(10x—1)
3(x+ 10)(x — 10)
2B3x+4)(3x—4)
(5x—3)(5x+3)
(9x+8)(9x—8)
(13x+ 10)(13x — 10)
(Bx—=5)(3x+)5)
(7Tx—5)(7x—5)
—3(4x+9)(4x-9)
3(4x —3)(4x —-3)
(2x=9(2x-9)
22x+7)(2x+17)
10(5x + 8)(5x + 8)
=3(6x+7)(6x—T7)
Bx+9)(8x—-9)
4(3x—2)(3x—-2)
(6x+5)(6x+5)
(Bx—-5)(3x—-5)
—S(x+4)(x—4)
10(4x — 3)(4x —3)
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